187 447

A O O
. = = 10

[N

&

> (IGH. VOLTAGE

?‘77

4%’J 5/
) N/
i
{ [

@ SEE SPECIFICATION 820—104, COLUMN 2.
SPEC. GROUP: 2025 RODEO REV. DATE: REV. NO:
cvor & 11/05/24 2

DRAWING NO.

ROSEY“.I.E 12KV 3 PHASE CONDUCTOR TIE=IN

CALIFORNIA JOURNEYMAN EVENT C MALONE

Electric Utility

1 of 2



AutoCAD SHX Text
SPEC. GROUP:

AutoCAD SHX Text
REV. DATE:

AutoCAD SHX Text
REV. NO:

AutoCAD SHX Text
DRAWING NO.

AutoCAD SHX Text
12KV 3 PHASE CONDUCTOR TIE-IN

AutoCAD SHX Text
JOURNEYMAN EVENT

AutoCAD SHX Text
2

AutoCAD SHX Text
11/05/24

AutoCAD SHX Text
C. MALONE

AutoCAD SHX Text
2025 RODEO

AutoCAD SHX Text
1 of 2

AutoCAD SHX Text
10"

AutoCAD SHX Text
44"

AutoCAD SHX Text
18"

AutoCAD SHX Text
26"

AutoCAD SHX Text
9'

AutoCAD SHX Text
4 "34"

AutoCAD SHX Text
A

AutoCAD SHX Text
B

AutoCAD SHX Text
C

AutoCAD SHX Text
2  SEE SPECIFICATION 820-104, COLUMN 2.


LETTER QTY STOCK NO

A 3
3
3
3

B 1
1
1
1
2

C

NN

(2) * 820—104

10162
10163
10222

10115
10065
10222
10223
10188

10080
10057
19141
10516

ITEM
INSULATOR, PIN TYPE, 12kV POLYMER, HENDRIX HPI-55—4

INSULATOR PIN, 5/8 IN NYLON HEAD
WASHER, SPRING, 5/8 IN
TOP TIE, NO.2 AAAC, PREFORMED UTF—=1204

CROSSARM, 8 FT STD, TANGENT ARM, SPEC—-90

BOLT, CROSSARM, 5/8 IN X 20 IN (OR FIT LENGTH REQUIRED)
WASHER, SPRING, 5/8”

WASHER, SQUARE, 2—1/4 IN, 5/8 IN HOLE

SIGN, HIGH VOLTAGE, YELLOW PLASTIC

CROSSARM BRACE, FLAT, 1/4 x 32, CHANCE 7128
BOLT, CARRIAGE, 3/8 IN x 6 IN

BOLT, CROSSARM, .50 IN x 10 IN

WASHER, SPRING, 1/2 IN

LINE GUARD, SPEC. 820—104, COLUMN 2.

CITYOF \@
ROSEYILLE

I FORNIA

Electric Utility

SPEC. GROUP: 2025 RODEO

REV. DATE: REV. NO:

12KV 3 PHASE CONDUCTOR TIE=IN

11/05/24 2

DRAWING NO.

JOURNEYMAN EVENT C. MALONE

2 of 2



AutoCAD SHX Text
SPEC. GROUP:

AutoCAD SHX Text
REV. DATE:

AutoCAD SHX Text
REV. NO:

AutoCAD SHX Text
DRAWING NO.

AutoCAD SHX Text
12KV 3 PHASE CONDUCTOR TIE-IN

AutoCAD SHX Text
JOURNEYMAN EVENT

AutoCAD SHX Text
2

AutoCAD SHX Text
11/05/24

AutoCAD SHX Text
C. MALONE

AutoCAD SHX Text
2025 RODEO

AutoCAD SHX Text
2 of 2

AutoCAD SHX Text
LETTER

AutoCAD SHX Text
QTY

AutoCAD SHX Text
STOCK NO

AutoCAD SHX Text
ITEM

AutoCAD SHX Text
A

AutoCAD SHX Text
3

AutoCAD SHX Text
10162

AutoCAD SHX Text
INSULATOR, PIN TYPE, 12kV POLYMER, HENDRIX HPI-55-4

AutoCAD SHX Text
3

AutoCAD SHX Text
10163

AutoCAD SHX Text
INSULATOR PIN, 5/8 IN NYLON HEAD

AutoCAD SHX Text
3

AutoCAD SHX Text
10222

AutoCAD SHX Text
WASHER, SPRING, 5/8 IN

AutoCAD SHX Text
3

AutoCAD SHX Text
TOP TIE, NO.2 AAAC, PREFORMED UTF-1204

AutoCAD SHX Text
B

AutoCAD SHX Text
1

AutoCAD SHX Text
10115

AutoCAD SHX Text
CROSSARM, 8 FT STD, TANGENT ARM, SPEC-90

AutoCAD SHX Text
1

AutoCAD SHX Text
10065

AutoCAD SHX Text
BOLT, CROSSARM, 5/8 IN X 20 IN (OR FIT LENGTH REQUIRED)

AutoCAD SHX Text
1

AutoCAD SHX Text
10222

AutoCAD SHX Text
WASHER, SPRING, 5/8"

AutoCAD SHX Text
1

AutoCAD SHX Text
10223

AutoCAD SHX Text
WASHER, SQUARE, 2-1/4 IN, 5/8 IN HOLE

AutoCAD SHX Text
2

AutoCAD SHX Text
10188

AutoCAD SHX Text
SIGN, HIGH VOLTAGE, YELLOW PLASTIC

AutoCAD SHX Text
C

AutoCAD SHX Text
2

AutoCAD SHX Text
10080

AutoCAD SHX Text
CROSSARM BRACE, FLAT, 1/4 x 32, CHANCE 7128

AutoCAD SHX Text
2

AutoCAD SHX Text
10057

AutoCAD SHX Text
BOLT, CARRIAGE, 3/8 IN x 6 IN

AutoCAD SHX Text
1

AutoCAD SHX Text
19141

AutoCAD SHX Text
BOLT, CROSSARM, .50 IN x 10 IN

AutoCAD SHX Text
1

AutoCAD SHX Text
10516

AutoCAD SHX Text
WASHER, SPRING, 1/2 IN

AutoCAD SHX Text
*

AutoCAD SHX Text
820-104

AutoCAD SHX Text
LINE GUARD, SPEC. 820-104, COLUMN 2.


	Sheets and Views
	2025 12kV 3P ROLLER CLIP-IN-SHEET1
	2025 12kV 3P ROLLER CLIP-IN-MASTER TABLE DRAWING


